S0 SERIES

SHOCK ABSORBER

BEARING RISER

ASSEMBLY
INSTRUCTIONS

|AMco)

PRODUCTS . :
Portable Elevator Division, Dynamics Corporation of America %;

No. 1 AMCO Drive, Yazoo City, Mississippi 39194 / 601/746-4464



AMCO 30 SERIES DISK HARROW
Optional Shock Absorber Bearing Riser

Ref. No. Part No. Description No. Req'd

1 20273 Assy. Trunion MoUNt. .vevetineeteennneennnnnss 1

2 11699 Flex Gang Shank = RH (ShOWN) .+ e evvnsnnrrnnenno, 1

3 11700 Flex Gang Shank - LH........................:: ------ i

4 10579 Carriage Screw 3/4 x 3 NF, GRSuvvmsne oo 2

5 10585 Hex NUT 3/H NF, CHuvrnvrneeeeeee y

6 10061 Lock Washer 3/b PL.vuvusnssseensn 2

7 10866 Flat Washer 3/4 PL.................::::::: .......... 2

8 20268 Assy. Flex Shank Bracket........eweseooooonono, 1

9 101633 Top Plate 3/4 x 2 1/2 - 7 3/4 Long.........: ........ 1

10 10788 Hex Screw 3/4 x 6 1/2 NC,PL,GR2. v v 1

:; égggg Lock Nut 3/4 NC,PL.......................:.: ........ 2
Scraper L.H. (for shock absorbers only).............

A 100271 Sciaper Leg.. s spswmawss s ??T?.On]y} ............. :

B 101648 Scraper B]ade..................::::::' .......... 1

C 11652 Machine Bolt (Black) 1/2 x 1 1/4 NC.............. 2

D 10395 LOCk NUE 1/2 NC,PLunssssassassssnn 00 2

13 20274 Scraper R.H. (for shock absorbers only)............. 1

14 101634 Scraper Bar Support...........................::ééé.Note
Note: See Scraper Bar Support on diagram in figure 5
for placement and number required.

FA-01-0017 Bundle Shock Absorber Bearing Riser - RH (Shown)
(Complete) Includes parts 1-11 (omit #3)....
FA-01-0018 Bundle Shock Absorber Bearing Riser - LH
‘ (Complete) Includes parts 1-11 (omit #2)....
NOTE: Bundle FA-01-0017 (RH) is required to replace Bearing Riser 20233 (RH)

Bundle FA-01-0018 (LH) is required to replace Bearing Riser 20234 (LH)
Refer to Shock_Absorber Bearing Riser assembly instructions for correct
placement of right hand and left hand Shock Absorber Bearing Risers.

instructions

Refer to pages 37 - 50 of 30 Series Catalog for assembly instructions of
harrows equipped with shock absorber bearing risers except for steps 3,
4, 5, 9 and 10. Refer to steps 3a, La, Ga, 9a and 10a for shock absorber
bearing riser assembly instructions.

STEP 3a (Refer to Figure 5 and Table 2)

Slip eye-bolt end of flex shank bracket over the flex shank as shown in the
optional shock absorber bearing riser parts diagram. Loosely attach shock
absorber bearing risers with 3/4" x 6 1/2" bolts, top plates and 3/4' lock
nuts to gang frames on the center main frame. Loosely attach scraper bar
supports with 3/4'" "' bolts. Starting with dimension A and going through
F for the appropriate harrow model, locate bearing risers and scraper bar
supports, measuring to the center line of the bolts. Place right hand
bearing risers on the front right hand and the rear left hand gang frames.
Place left hand bearing risers on the front left hand and the rear right
hand gang frames. Tighten only the four inner most bearing risers snugly
in place. Leave supports and other risers loose enough for shifting
easily by hand later.

STEP 4a (Refer to the appropriate model diagram in Figure 2, 3 or 4 on
pages 42 - 4k for gang and scraper placement).

Position the four inside gangs for attachment. Note position of smaller

step-down blades toward the harrow center on rear gangs. Raise gangs to

connect gang bearing trunions to bearing riser mounts.

Attach each trunion to the riser with two 2 1/2'" x 3 3/4'" fastening plates
and 5/8'" x 1 3/4" carriage screws. Shift outside bearing risers as requir-
ed to make sure all toggles on the trunions are centered inside the mount-
ing slots on the risers with no bearing preload. Tighten bolts evenly on
all risers.

VERY IMPORTANT: Make sure each flex shank bracket is clamped flush to the
underside of its gang frame and is square with the gang frame before moving
to another gang. Rotate each gang slowly and make sure toggles do not bind
against the mounting slots. Loosen the bolts on the lower arm of the flex
shank that attach the trunions to the flex shanks, rotate the gang again

to allow the trunions to align with the gangs and retighten as required

to eliminate bearing preload. Failure to properly align trunions and
risers will cause premature failure of gang bearings and will void bear-
ing warranty!

STEP 5a (Refer to appropriate model diagram in the figures on pages 42 - Lk
for scraper bar and scraper placement).
With the vertical leg downward and to the front, attach each of the four
scraper bars to the inside gangs using 5/8" x 1 3/4' carriage screws.
Finger tighten nuts to screws at this time. Allow bars to overhang at
the ends sufficiently to attach scrapers as shown in Figure 2. Shock
Absorber scrapers must be attached at each shock absorber bearing riser
to allow additional clearance for flexing gangs. Attach special scrapers
with double bend legs for the front outside blades on the inside gangs
as shown in the illustration on page 38. Using a 1/2" x 2'' carriage
screw, attach a special scraper and a regular scraper to the same slot
on the scraper bars. Attach all other left hand and right hand scrapers
for the inside gangs. Adjust scrapers to run 1/16'" to 1/8'" from the
disk blades. Tighten all bolts.



*49s1y bujaesg

=P

*J9s|y Bujieag o|ppiw 01 Jos)y Buidesg 9pISuU| Wo4) B.insedy

"|°pOW siyl uo |led Bwedy Jo IpIsino paiedo| sidoddns ueq dadedss Bulm uesy

epising 03 Jo9s!y Bujiesg splIsuj wou) ounsesy

(YY)
SR8

EYRY]

[y
Ll

¥xx91L/11 49 ¥x291/9 49 0 /2

wx91/G1 S€ 8/L gl #%91/6 [T Ly $qt) 7/€ 82| /L 6| 9L/L Lz | 91/91 Sq| 8/€ 11| @pelg y/ 0£30
N TR kA

8/¢ #l 8/¢ 09 8/L gl | 9l/11 L2 91/91 94 L] $wl| w/€ 82| 8/L 6| 9L/L Lz|91/G1 S| g/€ LL| =perg 99 0£2a
_ __O_m_.

+8/L°8T 8/1 €7 | 9L/1L LI 91/9 6 h/€ 9¢ L) %90 w/€ 82| /L 6| 91/L Lz | 9L/91 Sy| 8/€ 11| =pPeld 09 0£3a
__O—._h_,

8/l L 91/G91 S€ | 91/11 L1 91/S 6 91/6 LT Ly 1| /€ 82| 8/L 6| 9L/L Lz | 91/91L Sy| 8/€ LL| @pelg 95 0£3d
#x291/11 49 #3%91/11 %9 10 He

¥x91/91 S¢ 8/l g1 wxti/€ 8T | /L L| ¥l | w/€ 82| 8/L 6| 91/L 12| 91/5 0S| w/L L ope|g Zg8 0£)
:J. 12

8/¢ %1 8/¢ 09 8/L gl 8/1 62 91/9 05| 8/L L | %L 5/€ 82| 8/L 6| 9L/L 12| 91/ 0S| #/1 L °peld k. 0£)
. 10,61

«8/L 82 8/1L € [9L/11L 11 8/¢ L 91/9L Q€| 8/L L | ¥yl | w/€ Q2| 8/L 6| 91/L 12| 91/9 05| #/1L L ape|g 99 0£2
il ikl

8/1 L 91/91 SE€ [ 9L/11 L1 8/¢ L W/€ 8T | 8/L L| ¥yl | v/€ QT | 8/L 6| 9L/L 12 91/S 0S| #/1 L apelg 79 0£)
#xx91/9 %9 ¥x291/9 #9 1052

wxlf/€ 9€ | 91/€ L1 - xx91/6 LT L %81 (91/6 Lz | 8/€ OL | 9L/L L2 | 91/G5L Sq| §/€ 1L opelg 99 0£Q
i :O__.N

/1 gl 91/S1 Sh | 9L/¢ L1 {9l/11 LT 91/G91 G4 L) %81 [9L/6 Lz | 8/€ OL | 9L/L LT | 91/G1 Sy | 8/€ 11 °pe|g 89 0¢£d
: __m_m_.

91/l LT 91/91 G4 8 91/9 6 h/€ 9€ L) %81 9L/6 Lz | 8/€ OL | 9L/L L2 | 91/SL Sk | /€ 11 ape|g 45 0£Q
__O_m_.

¥91/L [T /€ 9¢ 8 91/9 6 91/6 [T L} %glL 9L/6 Lz |8/€ OL | 91/L Lz | 91/S1L Sy | 8/€ 11 spe|lg 09 0f£d

1 b r _ H B 4 3 a 2 ga
7 314vL

Figure O

1708-N 140d4dNS dvd Y3dvYas
INTTYILNID L7708 ¥3SiY ONIY¥v3Ig H3IgH0oSavy HIOHS




STEP 9a (Refer to Figure 5 and Table 2 for wing bearing riser and scraper
bar support location).

Starting with dimension G and going through L for the appropriate harrow

model, follow the same procedure on the wings as was used in Step 3a for

the center section.

STEP 10a (Refer to the appropriate model diagram in the figures on pages
L2 - B4 for gang and scraper placement on the wings).

Follow the same procedure on the wings as was used in Steps La and 5a for

the inside gangs. Note proper location of gangs with step-down blades

and feathering blades. Again, pay particular attention to proper align-

ment of bearings as discussed in Step 4a to eliminate possible bearing

preload and premature bearing failure. Special scrapers are located

at the rear wing gangs.

St



